Colliding Particles - Episode 6: Beam 

Activity Sheet 2
The Large Hadron Collider (LHC) is producing its first data. In the film, the scientists talk about these early results. Some of the terminology they use may be unfamiliar.

It will help you to understand what is said in the film if you read the following points made by speakers in the film and discuss the answers to the questions.

1  “There are two collaborations working at LHC: ATLAS and CMS.”

What does the word ‘collaborations’ mean here?

2  “If we shut down the computers to change the software we will lose run time and than means less data. We need lots of data because the results all depend on the statistics.”

What does the word ‘statistics’ mean here?

3  “At present, the collisions are not producing any new physics, they are simply confirming known physics.”

What does the word ‘physics’ mean here?

4  “Because we have two experiments, the results from the second one will be used to validate those from the first one.”

What does the word ‘validate’ mean here?
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